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Question 1
a. A line is to be divided into 3 parts in the ratio 2:7:11. If the line

is 840mm long find the length of each part?

b. Factorize the following expression? 3x* - 3y* - 2x 2y

c. Simplify 3x3_7 - 2x2—5

d. Find the solution set of the following simultaneous equation
3x + 4y =0
2x -2y =17

Question 2

a. Express 27p _ 322p | P¥2 45, single fraction in its

2p 3p 6p
lowest terms.

b. Solve the equation

2x  _ 3x 1
x+2 x+5
Question 3

a. Find the solution set of each logarithmic equation.
)logs* + log®= 2

ii) 1logs* = logs*®

b. Two straight line PQ and RS cutat X . If PX =RX and
<SPX = <QRX, Prove that ASPX =AQRX
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c.Ifa=12cm b =16 cm and ¢ = 25cm, find whether C is acute or obtuse and find its
magnitude?

Question4

A .Given that y = 3x* + 7x + 3,calculate
i) the gradient of the tangent to the curves y at the point when x =17
ii)the value of x for which y has its maximum value.

b. Evaluate the following definite integrals
2
[@x+5x)ax
1

c. Find the area between the curves y = x* and, the x-axis and the line at x =1 and x = 3.

QuestionS

a Find the inverse of the matrix
1 2
4 3
b . AC is a diameter of a circle center o and CD is a chord, M is themed-point of CD.
the tangent at A meets MO produced at T. Prove that

i) ACMO is similar to ATAO
ii) TA.MO = AO .MC




